RABE IR TR0~ R — RN RL #2023

HWH 202342 H18H (+)

=2 WG 7 27 F— 2 (50m)

1/1

No.7 %% 100m& ik E #EREE 1:41.18

< 80~84%% > ) ARG 1-41.18

B K4 ‘ TR ER R K& B fE #TEcEk (R.T)

1 HAY 1BF K S CER)II 1/ 1 2:24.40 * T8 (0.84)
1:07. 00

No. 7 %% 100m& ik & #EREEE  1:28.67

<i 15~19m% > ) BAZE  1:31.79

JE 4L EE% \ gy 7K & BF Rl #FECER (R.T)

1 & mer K S CER)II 1/ 2 1:57.59 ( 0.76)
57.93

Pl I S KSCTH 1/ 4 =11 (—— )

No.7 &F 100m&E ik =

< 70"'?74?'-& >>'a A= HREE  1:17.26

< T i AAIZSE  1:26.15

B K4 FrERR R K& BF fEl  #TEcEk (R.T)

1 AR K5 SFHA% 1/ 5 2:21.40 ( 0.97)
1:07. 90

No.7 %+ 100m& ik & pRESE 114,28

<i 60~645% > ) BARE  1:20.43

[[=ivd ?('.% TR ER R K& B fE #EcEk (R.T)

1 EEET S - XT A 2/ 5 1:30.72 *=F#f) ( 0.76)
45. 40

2 [H #3E A 1/ 3 1:46.12 ( 0.71)
51.41

No.7 % 100m&ikE BRESE  1:00.69

< 55~59%% > ) AR 1-15.58

[[=Rivd Ej% \ FrEER R K& B fEl  #EcEk (R.T)

1 A\l Foyr T X AA 2/ 3 1:17.08 ( 0.70)
37.03

2 Pl FIl+ T X AA 2/ 2 1:22.92 ( 0.61)
38. 45

No.7 ZF 100m&ik = #REE  1:08.16

<i 50~54m > ) BAE  1:10 20

B K4 FrERR R K& B R #TECE% (R.T)

1 A #ir IR 2/ 1 1:40.01 ( 0.75)
46. 96

No. 7 ZxF 100m& ik E wRESE 10704

<i 45~495% > ) BAZE 110 93

IBhL B4 Fﬁ)ﬁﬁ%% IKE& B B #rECsk (R.T)

1 PAH HE BT NTL— 2/ 4 1:21.38 ( 0.70)
38. 38

HAHBE: 2H18H 11:32



